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gytenterat & o ﬁ,g-‘rﬂ- P Instructions for the candidates :

1. WRIETHT OMR SW¥ US@ 4T HYAT 1. Candidates must enter his / her
0y giasT FHiE (10 HHT F7) ‘Question  Booklet Serial No.
v ol (10 Digits) in the OMR Answer

_ Sheet.

2 W?HTWT JGIT 39T VST ‘g4 g 2. Candidates are required to give their

STl answers in their own words as far

as practicable.

3. WWWWWE{TWW 3. Figures in the right hand margin
ffee @vd 81 indicate full marks.

4. ¥l F &I ‘15{?5 qg# & fﬁ'(,’ 4. 15 minutes of extra time have been
15 e &7 il 9a far mar 81 allotted for the candidates to read
the questions carefully.

5 FEYTII I G@USI H 8 — @US-F Ud 5. This question booklet is divided into

JUug-af/ two sections — Section-A and
Section-B.
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W 3 73 & fed @ feet a et
HT IA¢ 3 &1 FIF T & v
5 3w frEiRka &1

feat qwrR & seegiiAe SYFIUT & - 8.

41T qoiear T &1

In Section-A, there arc 100 objective

type questions, out of which any
50 questions are to be answereff-
First 50 answers will be cvaluated 11
case more than 50 questions aré
answered. Each question carries
1 mark. Darken the circle with
blue / black ball pen against the
correct option on OMR Answer sheel
provided o you. Do not use
whitener / liquid / blade / nail
etc. on OMR-sheet, otherwise the
result will be invalid.

In Section-B, there are 30 short
answer type questions, out of
which any 15 questions are to be
answered. Each question carries
2 marks. Apart from these, there are
8 long answer type questions, out
of which any 4 questions are to be
answered. Each question carries
§ marks.

Use of any electronic appliances is
strictly prohibited.
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SEEMANCHAL ACADEMY

WUg - ¥ / SECTION - A

aﬂﬁﬁm / Objective Typec Questions
Yy W& 18/ 100 7% & Ny & grr O Fwew Ry v & e @ va wet &) et
505¥1 & ST HUR FRT g7 ¢ W&} fawe & oMR ¥z ov fafTT w7

50x1=50

Question Nos. 1 to 100 have four options, out of which only one is correct. Answer any

50 questions. You have to mark your selected option on the OMR-Sheet. . 50 x 1 =50

1. & 213113111311113... %
(A) OIS TE (B) URHY HEA
(C) 3Imieig gem (D) ¥ & &g Tl
The number 2-13 113 1113 111183 ... is
(A)  an integer (B) arational number
(C) an irrational number (D)  none of these

2. {E-3THT TEFIS H HoWo Bl ¢

y 2 (B) 1

© 3 (D) ¥ A I TE
H.C.F. of co-prime numbers is
(A) 2 (B) 1

(C). 3 (D) none of these

(H-)110J Page 3 of 44
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SEEMANCHAL ACADEMY
3. GR m TH YHIHH qUileh & At YT foue quieh T &9 §

A 4m+2 (B) 4m+4

(C) 4m+1 D) T ¥ HE
If m is a positive integer then positive odd integer is of the form
(A) 4m+2 (B) 4m+4

(C) 4m+1 (D) none of these

4. Yow R F e F G Od ¥
@A) 2 B) 1
c) 3 (D) T ¥ &S T
The number of zero(s) of a linear polynomial is
Ay 2 B 1
(c 3 (D) none of these

5. 2x?-3x-5 H T YIH ¢

a) 1 B -1
© o (D) T ¥ W T
One of the zeros of 2x2 - 3x-5 is

(a) 1 B -1

C o (D)  none of these

(H-I)110J 1002-J(s0 Page 4 of 44
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6. A plx)=q(x).g(x) AR p(x) F T = 6 AR g(x) & T = 2 &, &

g(x)
A) 4 (B) 6
© 3 (D) TH Q HIE T
If p(x)=g(x).g(x) and degreec of p(x) =6 and dcgrce.of g(x)=2, then degree
o 2AE). oo e |
g(x)
(A) 4 B) 6
(€) 3 (D) none of these

7. TR9E 6x>-11x+3 % YFAH! S AT BN

1 6
A = 4.2
@) 5 B I3
2 =11
@ 6 (D) 6
The sum of zeroes of the polynomial 6x2 —11x+3 will be
1 6
@ 3 B
11 -11
© 5 o) =2

8. T x y o {@® GHERIT ax+by+c=0 % A GHA & T 7 fweam
&l &1l ?
@ 1 B 2

C) 3 (D) ¥H ¥ &g 7
(H-I) 110J 11002-Js0) | - Page 5 of 44
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SEEMANCHAL ACADEMY
How many solutions of linear equation @x+by+¢=0 in two variables X y Wil
be in the set of real numbers ?
@A 1 B) 2
(C) 3 (D) -+ none of these
A FHIFOT I 2543y =5 T 4x+6y= 15.% fepert 5o BT 2
A)  AgaE e (B) I &
(C) FHNHT T (D) IS & |

How many solutions does thé pair of linear equations 2x+3y=5 and

4x+6y=15 have ?

(A) a unique solution (B)  three solutions

(C) infinitely many solutions (D) no solution

It Yae Tl 1 g W § a9 36 gRT e YE et o
W THITR (B) TN ufceal

(C)  TER Huwdr (D) Wt AT et

If pair of linear equations is consjstent then the lines represented by them are
(A)  parallel (B) always intersecting

(C) always coincident (D) intersecting or coincident

(H—I) 110J 1002-J(s0) Page 6 of 44



SEEMANCHAL ACADEMY
1. Frefeted 7§ @ SF vy @ @ 2

\}\J n B) V7

J2 3J75
(C) /s (D) T
Which of the following is not an irrational number ?
(A m B) 7
2 378
il T
12. ﬂﬁa@ﬂﬁ:ﬂﬁagqaxQ—Sx+5é7Wﬁ,ﬁ(a+ﬂ]?ﬂ:ﬂ:f€:|7ﬂ'
(A) 3 (B) S
€ -3 (D) -5

If « and B arc thc zecros of quadratic polynomial x? -3x+5, then value. of

(ax+P) is
(A 3 B) 5
€ -3 (D) -5

13.  fgomd @gug x2+%x_2%waﬁ

w39 @ (-2

© (-%£3) O ¥
Zeros of the quadratic polynomial x2 +é—x _2 are

W (-3,9) ® (-3%)

() (—%, %) (D) Nose of Hiese

(H-I)110J 1002-Jis0) ] Page 7 of 44




SEEMANCHAL ACADEMY

14, oY Femalt & EEE 2166 ¥ T I HoTo 19 %, 7t I FoHo BT

(A) 38 B) 57

© 114 (D) ¥ FE R
If.product of two numbers is 2166 and its HCF is 19, then its LCM is
(A) 38 B) 57

(C) 114 (D) none of these

15. uﬁﬂﬁﬁp(x)ﬁ?ﬁﬁ“ﬁ@'@(x+l)ﬁ?ﬁ,HEWp(x)W@Wm

A) -1 B) 1
€ o : D) T ¥ HIg Tl
If ( x + 1 ) is a factor of polynomial p ( x ) then one zero of the

polynomial p ( x) is

(A) -1 B) 1
€ 0 (D)  none of these

16. GHIHUT [ 6x-2y+9=0 3R 3x-y+12=0 maﬁ@?ﬁm%@ﬁ%a’r
() HOETE (B) WAWK E

(] Y a

() hadl & fag W afdeg A € (D) 3799 & IS 7@

The graph of system of cquations 6x-2y+9=0 and 3x-y+12=0 are twa

lines which are
(A) coincident (B) parallel

(C) intcrsecting exactly at one point (D) nonc of these

(H-1)110J [1002-Js0 Page 8 of 44




SEEMANCHAL ACADEMY
17. A% a=(23x3x5) 3R b=(2%x5x7) @4 Todo (a, b) &M
(A) 40 (B) 560
(C) 1120 (D) 1680
If a=(2°x3x5) and b=(2%x5x7 ) then LCM ( a, b) will be
(A) 40 (B) 560
© 1120 (D) 1680

18. ol femt 9gwR & v aft 5 ud - 3%, A feen @guw g

). E*$0E-15 (B) x%-2x+15
© x2-2x-15 (D) ¥ A HIE Tl
If zerocs of a quadratic polynomial arc 5 and - 3 then, the quadratic

polynomial is
A) x?+2x-15 (B) x%2-2x+15
(C) x2 -2x—15 (D) None of these
19.  HHIER- S0 - 10, - 6, -2, 2, ... T W W &

\Y(AJ -4 (B) 4
© 2 (D) ¥H 9 SIS HI
The common difference of A.P. - 10,-6,-2,2, ... is
(A) -4 B) 4

(C) 2 (D) none of these

(H-)110J Page 9 of 44



SEEMANCHAL ACADEMY
20. Fr=fetaa & @ foma edfeRo @l ?

(A) 3x-x2=x%4+5 (B) (x+2)?=2(x*-5)
y) W2x+3)2=2x2+6 D) (x-12=3x*+x-2

Which of the following is not a quadratic equation ?

(A)  3x-x?=x%+5 (B) (x+2)?=2(x*-5)

(C) (W2x+3)2=2x2+6 D) (x-12=8x*+x-2
21. frdl gaer 85w IRy 4n Hex & @ ST B

A) 17X B) 2HX

(€ o« HRX D) T ¥ FIE 7w

If the circumference of a circular area is 4n metre then its radius is

(A) 1 metre (B) 2 metre

(C) nmetre (D)  none of these

0. 6 cm AT TR e Y ot uRkffT B
A) (n+1)6cm (B) (n+2)6cm
(€) -(n+3)6cm | (D) 6m cm
Total perimeter of a semi-circle of radius 6 cm is
(A)  (n+1)6cm (B) (n+2)6cm

[C] (7[+3)6 cm (D] 6T cm

(H-1)110J  [1002-Jso Page 10 of 44
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24,

25.

SEEMANCHAL ACADEMY

21 cmﬁmaﬁﬁﬁwmﬁﬁaﬁwﬁ?ﬁa’rﬁﬁwqtemwm
FHad s € 2

(A) 2l cm (B) 22 cm

il eaes (D) ¥ | g Tl

In a circle of radius 21 cm, what is the length of an arc which subtends an

_anglc of 60° at the centre ?

(A)  2lcm (B) 22cm

(C) 23 cm (D)  None of these

A S AT F SR 1: 27 ¥ T I ST AT F ST BT
(A  1:3 (B) 1:8

(C) 1:9 .(D} 1:18

If two cubes have their volumes in the ratio 1 : 27, then the ratio of their surface .

arcas is
(A) 1:3 (B) 1:8
(C) 1:9 (D) 1:18

TF do fAge! YR H BT 80 cm T FHE 20 cm € & TYUT TOT &6 Tef
THYSS & EIAHET ST AT B
A)  2:1 (B) 3:1

(C) 4:1 (D)  S:1

(H-I)110J [1002-Jis0) | Page 11 of 44




SEEMANCHAL ACADEMY

The ratio of the total surface area to the curved surface area of a cylinder with

basc radius 80 cm and height 20 cm is

A 2:1 B) 3:1

€ 4:1 (D) 5:1
26. 8,7, 12, 15, 10,9, 11 %\ HIfegsHT &t

A) 10 B) 11

© 9 D) T § &8 TRl

Median of 8, 7, 12, 15, 10, 9, 11 is

(a) 10 (B) 11

(C) 9 (D)  nonme of these
27. 70, 80, 50, 60, 70, 40, 50, 90, 50, 30 I FEeTH EIT

(A) 70 (B) 50

(€ 40 D) T e

Mode of 70, 80, 50, 60, 70, 40, 50, 90, 50, 30 is

(A) 70 (B) 50

(C) 40 (D)  none of these

(H-I)110J 1002-J(50) Page 12 of 44




SEEMANCHAL ACADEMY
28.  Torelt g el o afx x5 sl 1 A g B, e W SARET §

) Zfr'xi
T x AT § i=,11 .

2.0

i=]

(A) - x (B) 2x
(C) 3x (D) %H d g Tl
In a grouped data if x;s are the mid-points of the class intervals, f;sare the
n
Zfixi
corresponding frequencies and x is the mean then = =
It
25
i=1
A x B) 2x
(C) 3x (D) none of these

20,  Afe fordl w2 & " &) Wigehar p € o TP TRl B i UIidehel g0l
a)  (p-1) B) (1-p)

© » D) [1-%]

If the probability of occurrence of an event is p then the probability of

non-happening of this event is

A (p-1) B (1-p)
1
© p (D) (1-;]

(H-1)110J Page 13 of 44
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32,

SEEMANCHAL ACADEMY

ﬁqﬁﬁ@wﬁw%lﬁqﬁwmsaﬁaﬁwﬁwﬁﬁ

1

(A) B 35

o= N+~

(D) T F P TRl

(C)

Two dice are thrown together. The probability of getting number 5 on both

dice is
1
A i L
(A) 5 (B) o
1
(C) " (D) none of these

T 7x% —12x+18=0 %q\a‘i%ﬁﬂw%ﬁﬁmw IR &
A 7:12 - B) 7:18
() 3:2 D) 2:3

The ratio of the sum of roots and product of roots of the equation

7x% -12x+18 =0 is
A)  7:12 (B) 7:18
() 3:2 D) 2:3

i e TR ax? + bx+c =0 % TOT SR &, Tl ¢ A &M

W - B =
2 2
© - D) =

(H-I)110J 1002-J(s0) Page 14 of 44



SEEMANCHAL ACADEMY

If the roots of the quadratic equation ax? +bx+c=0 are equal then the

value of cis

I B =
@ =& o 2

33. y=10 I 3Ael@ ¥l Wl @1 arl 2
(A) " a‘jam’ar (B)  y-37&F & GHIN
€ 7= fag @ S g (D) T | &3 Tl
What type of straight line will the graph of y =10 be ?
(A) Parallel to x-axis (B) Parallel to y-axis
(C) Passing through origin (D) None of these

34. frfefaa § @ wF-w1 fag i aqute § R ¢ 2
() (4,6) B (-4-6)
© (4,-6) D) (-4,6)
Which of the following points lies in 3+ quadrant ?
A) (4,69 B) (-4,-6)
@ (4-6) D) (-4,6)
35 gfe HET AU T UUH U a AR A 3R d &, 9t T9h USH n G&I N ARTERA BT

\}J, a+(n-1)d (B) a+nd

(C) -’21[2a+(n——1)d] (D) %[2a+nd]

(H—I) 110J {IOOZ-J{SO)J Page 15 of 44




SEEMANCHAL ACADEMY

If a is the first term and d is the common difference of an A.P., then sum of its

first n terms of it is

(A) a+(n-1)d (B) a+nd

(C) %[2a+(n—1)d] (D) -'21[2a+nd]
36. WHIR SN 2,7, 12, ... 108 W] ¥

(A) 50 (B) 40

(C) 47 (D) 53

10t term of the AP, 2, 7, 12, ... is

(&) 50 (B) 40

(C) 47 (D) 53

37. GHR AV 14,9, 4, - 1, -6, ... T o1 U AT

(A) (19 +5n) B) (19-5n)
€ (19+n) (D) T ¥ FIE Tl
nth term of the A.P., 14, 9, 4, - 1,6, ... is

(A) (19 +5n) (B) (19-5n)

(€ (19 +n) (D)  none of these

38, |HA 907 2,7, 12, ... T VST 10 YT T AT &R
(A) 245 (B) 240

(C) 244 (D) 254

(H'I) 110J 1002-J(s0) Page 16 of 44




SEEMANCHAL ACADEMY

The sum of first 10 terms of A.P., 2, 7, 12, ... is

(A) 245 (B) 240
(C) 244 (D) 254
39. TgEm WHIET ax? + bx + ¢ =0 (@ #0) H x & HH &1
—b+Vb? + dac —~b+vdac-b?
(A) 2a (B) 2a
—b:t\/bg—ﬁ}ac

y) 2a

In quadratic equation ax? + bx + ¢ = 0 (a #0) the values of x will be

(D) b2 +4ac

(A) —bxVb? +4ac B) —binac:—b2
2a ( 2a
— 2 —
() BEVE" 5 Hae (D) b2 +4ac

2a

40. fagafi(9,3)Wd (15, 11 )F A B U @
@) 11 (B 10
(c) 13 D) 12
Distance between points (9, 3 ) and ( 15, 11 ) is
(A) 11 (B) 10

(C) 13 (D) 12

41, 9 g9 % = & X & s (2,3) W (-6, 7 ) o 3 S5 & HAmE
uil

(A)  (-2,5) B) (2,-5)

() (2,5) (D)  (3,95)

(H-I)110J Page 17 of 44




SEEMANCHAL ACADEMY

If co-ordinates of the ends of a diameter of a circle are (2, 3 ) and (- 6, 7 ) then

the co-ordinates of its centre will be
A (-2,5) (B) (2,-5)
€  (2,5) D)  (83,5)
42. BT aBC® PR  frg ST AB W Ac W WY vw R & 76 PO | |BC.
AP=3 cm, PB=2cm, AQ=6 cm 3 QC= xcm @ x FT TF 1
A 2cm (B) 4cm

(€©) 8cm (D) 10cm

In’ triangle ABC, P and Q are points on the sides AB and AC respectively such

that PQ ||BC. If AP=3 cm, PB= 2 cm, AQ = 6 cm and QC = x cm then value

of xis
(A) 2 cm. (B) 4 cm
(€) 8cm (D) 10cm

43. B GARY Pt % Eehel o1 ST 9': 4 § O ! Ui Srreal 1 oA e

27%3 (B) 3:2
s :
€ 4:9 D) 9:4

If the ratio of areas of two similar triangles is 9 : 4 then the ratio of their

corresponding altitudes is
(A) 2 %3 B) 3:2

(é) 4:9 D) 9:4

(H-I)110J 1002-J(s0) .Page 18 of 44
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43.

46.

SEEMANCHAL ACADEMY
Brqst POR # 3t PQ? = PR? + RQ2 &Y BT &1 BIH-W1 VT GO BT 7

(A) 4P (B) <0

© <R (D) T ¥ s T
In triangle POR, if PQ? = PR? + RQ?then which angle of the triangle is a right
angle ?

(A) «P B) Z£0Q

€ 7R (D)  None of these
et g1 1 21 srom Tgait T iR Y e Yar @ e
(A)  SfEr (B) ©TF @I

(© = (D) T QW
A line which intersects a circle in two distinct points is called
(A) chorc-i (B) secant

(C) tangent (D) none of these

alg A= AB F6 % %% W 60° I HIUT FART a1 € A A AR B fagat w @
TE TV % = T BT B

(A)  30° (B) 60°

(C) 90° (D)  120°

If a chord AB subtends an angle of 60° at the centre of a circle then the angle

between the tangents to the circle drawn at points A and B is

(A) 30° (B)  60°

- (©) 90° (D) 120°

(H—I) 110J Page 19 of 44
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47. U g9 W fwa et Wa g ST gehdt ¥ 2

Ay 1 B) 2
c 3 (D) A~

How many tangents can be drawn on a circle ?

@ 1 (B) 2

© 3 (D)  infinitely many
48. Mﬂ (0°< A <£90°)

(A) cotA (B) secA

(C) cosA (D) sinA

49, cosec?57° - tan? 33°=?
(A O B) 1
< -1 D) 2
50. cos48°-sin42°=?
A 1 By O
e 2 D) -1

51. 7,3,5,8,6,10,9, 12 ST HIHH ¥

A 7 B) 75

c 8 (D) T ¥ I3 Tl
Median of 7, 3, 5, 8, 6, 10, 9, 12 is

a7 (B) 175

(C) 8 (D)  none of these

(H-1)110J 1002-J(s0) 'Page 20 of 44




SEEMANCHAL ACADEMY

52.  9,3,4,7,2,9,6,7,9,9 % T5oIH FTE ?
(A) 2 (B) 3
< 7 (D)9
What is the mode of 9, 3,4,7,2,9,6,7,9,9?
(A) 2 (B) 3
<c 7 D) 9
53. f=AfefEa 9 sE-91 a9y 9= g 2
A 27 B 35
(© 13 (D) 56
Which of the following is a prime number ?
(A) 27 (B) 35
(C) 13 (D) 56
54. afg TRl SRERAT RON S A 8.9 Ud HIfeqehT 9 B, dl Sgeteh @
a) 72 (B) 82
(C) 92 (D) 102

If the mean .of a frequency distribution is 89 and its median is 9 then its

mode is
(A) 7-2 (B) 82
(C) 9-2 (D) 10-2

(H-I) 1. 101 Page 21 of 44
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55. 19 3R 25 T TARK AT €
(A) 21 (B) 22
€ 23 (D) 24
Arithmetic mean of 19 and 25 is
a) 21 B) 22
€ 23 D) 24
56. Twdl 9e1 E & [T p(E)+ P (ETET) =2
(A O B) 1
D) -1

© 3

For any event E, P(E)+P (notE)="7

@ o ® 1
© 3 o -1

57. ﬁ%ﬁ%mﬁzsﬁéaﬁﬁmﬁwﬁfﬁ

.NTA]

(A 1 (B)

ﬁ : (D)

In tossing two coins the probability of getting 2 heads is

BN P

@ 1 B 2

(D)

H=

© 3

(H-I)110J 1002-J(s0) Page 22 of 44
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99.

60.

SEEMANCHAL ACADEMY

A ferelt FAR w9 @ FarR FHi W IF WY B DT F @S S Y3 O E
T w1 I FIT @

(A)  30° (B)  45°
(€ 60° (D) 75°

If the height of a vertical pole is +/3 times the length of its shadow on the ground

then the angle of elevation of the sun is

(A)  30° (B) 4s5°
i€} « B0 D) 75
T q R b Y W= €, A1 oo Fo (a, b) BT

(A) a (B b

a
y ab o) 5

If @ and b are primec numbers, then LCM ( a, b) is

ey

(A) a (B)
(C) ab (D) %
fyferfa o @ i fRE! ST T WMigehar 7T & Wehell § ?

(A) (B) 03

1
3

0 t
(C)  33% i)

(H-I)110J [1002-J6s0) | Page 23 of 44




SEEMANCHAL ACADEMY

Which of the following cannot be the probability of an event ?

1

w3 B) 03
(C) 33% (D) %
61. 3 taﬁ@:%, T (sin0+cosd)= ?
i L
@ 3 B
i 5
€ = Dy =
If tan0=-%, then (sin0+cos0)= -?
-~ 7 Z-
G B
7 S
<€ s D) =
62. (cosecO-—cotO)2 =?
1+cos0 1-cosB
A T"cos B Ticos6
1+sin0 .
\/@) T (D) sin0 . cos0
63. R Toar At g oo H0T a6l BeU@s & e 919 i wse gt
27RO 21RO
A T80 B 360
2R20 - xR%
©  Ts0 ‘))31 360

The length of an arc of a sector of angle 0° of a circle with radius R is

21RO 2RO
& T B 360
R20 nR%0
€ T80 O 3g0

(H-1)110J 1002-J(s0) Page 24 of 44
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64. —Cs—zgcl;—;; =T A B
A 1 B) 0
(C)I 2 (D) -1
The value of —SSS1% g
A 1 | (B) ©
< 2 D) -1
65. U UleU I S 40 cm ¥ 176 m Y g0 7 H 1 3 Rt 999 o 037 2
(A) 140 (B) 150
(C) 160 (D) 166

The diameter of a wheel is 40 cm. How many revolutions will it make in covering

176 m ?
(A) 140 (B) 150
(C) 160 (D) 166

66. M Ii &I HAE h AR SMUR ! Boar & 551 30 gim

L o
(A)  arh y/sm-h
b
3

© gwrh (D) -

If height of a cone is h and radius of its base is r, then its volume is

1 5L O
(a) gk B  5nrh
€ Larh D)  Lark?
3 3
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67. FRel S0 9T G 28 cm T 3HH HEE 20 om €, O THHT WU TS H LG
g

(A) 2993 cm? (B) 2992 cm?
(C) 2292 cm? (D) 2229 cm?

The diameter of a cylinder is 28 cm and its height is 20 cm, then the total

surfacec area of the cylinder is
(A) 2993 cm? (B) 2992 cm?
(C) 2292 cm? ‘ (D) 2229 cm?
68.  afq foRwl et bt Brear 3 THT &1 ST ¥, T IR S 8 S
() 37T | | B) 67T
o ot (D) 27 7
If the radius of a sphere becomes 3 times, t}:len its volume will become
(A) 3 times . (B) 6 times
(C) 9 times (D) 27 times
69. uﬁ%ﬁw%ﬁm&ﬁﬁﬁé 6V3 cm ¥, A TP WY IS 1 &G &I
(A) 144 cm? (B) 216 cm?

(C) 180 cm? (D) 108 cm?

(H-1)110J 1002-J(s0) Page 26 of 44




70.

1.

SEEMANCHAL ACADEMY

If the length of the diagonal of a cube is 643 cm, then its total surface area is

(A) 144 cm? (B) 216cm?

(C) 180 cm? (D) 108 cm?

R et vig & awYs w1 SwE 880 cm? ¥ R BT 14 om §, @ v e
ST Rt

(A) 10 cm (B) 20cm

(C) 40 cm (D) 30 cm

2

If the curved surface arca of a cone is 880 cm © and its radius is 14 cm, then its

slant height is

(A) 10 cm (B) 20cm

(C) 40cm (D) 30cm

fogafl (6, -5) T (-2, 11) & I a0 @EE & 7F a5 &1 Fams
a%[2,p]ﬁ,ﬁpﬁﬂﬁm

A 2 B 3

€ -3 (D) T W R T

If (2, p) is the co-ordinate of the mid-point of the line scgment joining the
points (6,-5) and (-2, 11 ), then value of pis

(A) 2 B) 3

(C) -3 (D) nonc of these
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72. T&Og (-6,-7)F HET

(A)

\/(Q)

-6

-7

(B)

(D)

The ordinate of the point (-6, -7 ) is

(A)

\®

-6

-7

73.  x-3T&7 S GHHIT &

(A)

(C)

The cquation of x-axis is

(A)

(€)

74. scc2 10° — cot? 80° T AM %—

(A)

(€)

x:

0

X=Yy

x=0

x=y

1

3
2

(B)

(D)

ﬁ,

(D)

(B)

(D)

(B)

(D)

The valuc of sec?10° - cot? 80° is

(A)

(C)

(] [4A )

(B)

- (D)

y=0

T | wiE T

y=0

none of these

D=

N~

(H-1)110J
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af et et & it o frames (-1, 0), (5, -2) T (8, 2 ) & Al 3HH HFF &
Fams gt

(A)  (0,4) B) (4,0)
(C)  (0,-4) D) (-4,0)

If co-ordinates of the vertices of a triangle are (-1, 0 ), ( 5, -2) and ( 8, 2 ) then

co-ordinales of its centroid are

(A) (0,4) (B) (4,0)

(€ (0,-4) (D) (-4,0)

A T4 I B 7 om €, O 39 g H uRkiafa gl

(A) 36 cm (B) 63 cm

(C) 37cm (D) ¥H 9 His &I
If radius of a circle is 7 cm, then perimeter of its semi-circle is
(A)  36cm (B) 63cm

(C) 37 cm (D) none of these

ferdt g W omRT g @ et TRl T Wie ST gehdt § 2

(A) 1 9}2

€ 3 (D) 4

(H-I) 110J 1002-J50) Page 29 of 44




SEEMANCHAL ACADEMY
How many langents can be drawn from an cxternal point on a circle ?
A 1 (B) 2
c 3 (D) 4
78.  l+cot?0 W HA ¥
(A) cot?0 (B}  sin%0
(C) cosec?0 (D) cos? 0
The valuc of 1+cot?0 is
(&)  cot?0 (B) sin%0
(C)  cosec?0 (D)  cos?0
79. tanl0°.tanl5°. 1an75°. tan80° T HH &I
V3 ®
c -1 D) 1

The valuc of tanl10° . tanl5° . tan75° . tan80° is

A V3 (B) %

© -1 D) 1
80. AR tan0=y3, T scc 0 M

() 72—5 (B) %

(&) % (D) 2

(H-I) 110J 1002-Jis0) _ Page 30 of 44




81.

82.

83.

SEEMANCHAL ACADEMY

If tan0=4/3, then scc 0 is
(A)

(D) 2

N = ‘lew

(€)
A 45,0, 11 3T x T A 78, A x HIAA &

¥
D) 7

(A)

o)

(©) 8
If the mean of 4, 5, 9, 11 and xis 7, then the value of x is

@ 6 B 4

(¢ 8 (D) 7

fgome THieRol 4x? +4x+1=0 %%}Hﬁ%ﬁi‘@l’fﬁ

(A) RS R ST By T SR AR
() I W o i (D) T A FIE T
The nature of roots of quadratic equation 4x% +4x+1=0 is

(A) Rcal and uncqual (B) Real and equal

(C) No rcal roots (D) None of these

g 3¢ =90° T sina Eﬁf'ﬁlﬂiﬁ"ﬂ

W = m L
© 5 y%

(H-1)110J [1002-Js0) | Page 31 of 44
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If 3¢=90° then valuc of sina is

(A) 71-5 (B) ~‘§

© 3 o B
84. sin(45°+0)-cos(45°=0)=?

(A)  2sin0 (B) 2cos0

€ o (D) 1

85. maﬁww 5x+2y=16 T 7x-4y=2 % & ¢
‘/lA) x=2,y=3 B) x=2,y=1
€) x=1,y=3 (D) x=0,y=3

Solutions of pair of lincar cquations 5x+2y=16 and 7x-4y=2 are

(A) x=2,y=3 (B) x=2,y=1
(C) x=1,y=3 D) x=0,y=3
86. AABC ADEF &% UH®Y & Ud &F%d A( ABC ) = 36 cm? T &%

A( DEF) = 49 cm?, d A Bryet &t 97a =3t &1 39 arm

(A) 36:49 B) 6:7
\}}) 7:6 D) V6:47
AABC is similar to ADEF and area A( ABC ) = 36 cm? and area

A( DEF) =49 cm 2 {hen the ratio of their corresponding sides is
(A) 36 : 49 (B) 6.7

C 7:6 D) V6:47
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87.  AABCW pr || Be w1 e Y fE gg g | 9f AC = 5- 6 om, T AL =7

(A) 42 cm (B) 31lcm

(C)  2:8cm (D) 2'1cm

In AABC, DE || BC such that }gg 3 IfAC=56cm, then AE=?

(A)  42cm (B) 3'1cm
(C) 2:8 cm (D) 21cm

88. 10 cm frean arell g 1 Uk Sfen g & W G AR O, A 7 S
ars gt

(A) -%cm \/‘(B) 5J2 cm
(C) 1048 e (D) 10V3 cm

The chord of a circle of radius 10 cm subtends a right angle at its centre. The

length of chord is

(A) % cm (B) 5J2 cm
(C) 102 cm D)  10V3 cm

89. cos 60° cos 30° —sin60° sin30° <hl HIH 3 |

\yl (B) 2

c O D =1
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9l.

92.

SEEMANCHAL ACADEMY

The value of cos60° cos 30° —8in60° sin30° is

Ay 1 (B) 2
€ O D) -1

faw w0 § =R & Ui Y e ot §

(a) 1 (B) 2

© 3 (D) T ¥ FIE T
The number powers of variable in a linear equation is

@ 1 S (B) 2

c 3 (D)  none of these

g feeme | ax? +bx=c, (a#0) % A o AR B &, ° a+B T A B

S o
(S 1)

If the roots of the quadratic equation ax? + bx =c, (a #0)are oo and B, then the

value of o +P is

@ =2 B 2
© D) =F

af TN 3x% ~10x+3 =0 I TH T 5 & 7 GO T M

A - (B)

1 1
3 3
3

@ -3 (D)
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If one root of the cquation 3x%-10x+3=0 is 1 then the other root is

3

e

W -3 G
(C) -3 (D) 3

93. IR furd THIROT 0x2 + 6kx + 4 = 0 % T[T AR T GHA & At k A @I
(A) 2310 - (B) -290
) 2Iq-2 (D) HIAO

If the quadratic equation 9x? +6kx+4 =0 has real and equal roots then the

value of kis
(A)  20r0 ' B) -2o0r0
(C) 2o0r-2 (D) only O

94, f‘s’amﬂﬁ\w 4y? + 4y +1=0 F Tell T OFH T

1

m b C

) 1 (D) T B T

The product of the roots of quadraficequation 4y? +4y+1=0 is
1 1

@ B) -7

(C) 1 (D)  none of these

05. TR x+2, 3x AN 4x+ 1 THCK S H & @ x S HH
(A) 1 (B) 2

€ 3 (D) 4

C(HD)110J  [1002Jew]  Page 35 of 44
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If x+2,3x and 4x+ 1 arc in A.P. then the value of x is
(A) 1 (B) 2
(C) 3 (D) 4

96. QIR Q! 0, -4, -8, —12, ... T GHE A ¢

A) o B 4
(C) -4 D
B (D) 2
The common difference of the A.P. 0, -4, -8, -12, ... is
(A) 0 (B) 4
) -4 (D) 2

97. WHIGR %Gl 14,9,4,-1,-6, ... F 128 TG §
(A) 41 B) -41
(C) 40 D) 36
124 term of the A.P., 14,9, 4,- 1, -6, ... is
A) 41 B) -4l
(C) 40 D) 36

08. Afg fedl |Hidy &1 I UoH g 13 Ud WE-3R - 4 o o T9% YUY 10 9§ 1

ATTHET &I
(A) 50 (B) -50
(C) 30 (D) -30
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100.
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Ilin an A.P., first tcrm is 13 and common difference is — 4 then sum of its first

10 terms is

(A) 50 (B) -50

S 30 (D) -30
-3 R fag et fog (4, 2) A W 58, Fefafea T sm & 2

(A) (—1,0') B (0,-1)

€  (2,-5) D) (3,5)

Which of the following is a point on y-axis whose distance from the point
(4,2)is 57

@  (-1,0) ®  (0,-1)

< (2,-3) \)D) (3,5)

aic R (5,6 ) fagsit A(6,5) TH B (4, y)H Ho-dwel @EE AB &
He-fag & At y 1 HH g

(A) S B 7

(CL,~ 12 (D) 6

If R(5,6)is the mid-point of the line segment AB joining the points A ( 6, 5 )

¥
and B{ 4. y) then the value of y is
‘ " 3 I LAdVWrdd Whidr F e -

(A) 5 B) 7

(C) 12 (D) 6
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| ug - o / SECTION - B

oy IWRIG I / Short Answer Type Questions
¥ WA 19 30 7% 7Y gwety we &1 3 | et 159l & gwv 1 9E WA &

fag 2 IF FeiRa &1 15 x 2 = 30
Question Nos. 1 to 30 are Short Answer Type Questions. Answer any 15 questions. Each
question carries 2 marks. 15x2=30
1. 0 3R 50 % = =t fauy demail =1 9 7 w3 2

Find the sum of odd numbers between 0 and 50.

2. T AR T 4 O O 6w T 1w T Qe g G S §, @
T el g B I Wigehar i Y 2
A bag contains 4 red and 6 black balls. A ball is taken out of the bag at random.
What is the probability of getling a black ball ?

3 [wdl vig & MER & B 7 cm € T 3T S9E 14 cm & O S SHYS &
ST T &I 2 2
If the radius of base of a cone is 7 cm and its height is 14 cm, what is its curved

surface arca ?

4. fog =t 6 2+ /2 UF JAHT FE&A1 € o
s

Prove that 2+ 42 is an irrational number.
5.  Teum G o1 WA #R T x2 +12x+35=0 I & A | 2

Using quadratic formula find the solutions of the equation x2+12x+35=0.
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6. 2.4 =l i & wewy w9 § fod 2
. Express 2-4 as a fraction in simplest form.
7. x foRE A & o Rt A (-3, 12), B(7,6) 3R C(x, 9) W@ T ? 2

For what value of x, the points A (-3, 12 ), B(7,6 ) and €(x, 9) are collinear ?

‘8/ 25+ 28 + 31 + ... + 100 T AT I | | 2
Find the sum of 25 + 28 + 31 + ... + 100.

9. THEHfF {(1+1anA)? —sec? A} . cot A=2. 2

Prove that {(1+tanA)? —sec? A}.cotA=2,

10. 39.Frg & Frdvrier Y S fagadt (-1, 7) 3R (4, -3) B foem el Yar ds
. I 2: 3% SFUT H faforie Far g 2

Find the co-ordinates of the point which divides line segment joining the points

(-1, 7 ) and ( 4, -3) in the ratio 2 : 3 internally

11. E&éﬂ?%aﬁg@wéﬂw1_760cm2t{a'3ﬂ%3ﬂaﬁa»‘“rﬁwmcm%a’r

v X -
JoTT T SETE =T /I 2 2

The curved surface area of a cylinder is 1760 cm? and its radius of base is

14 cm. What is the height of the cylinder ?

;g/uﬁﬁerraagq‘q' 5x2 —7x+1 % YAF o A P B Al [é+%)$rn1=ramm 2 2
If « and P are tHe zeros of the polynomial 5x% -7x+1, then what is the

value of (—1- + 1) ?
a P

PR P
L4
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}. o ferel sige e R foresh v 6 s /3 T Y A 4§ 2

Find a quadratic polynomial the sum of whosc zeros is J2 and their

product is

3 | |
14,  GHET x4y =11 F forq T Wl & w1 & ford | 2

Find the solutions for the equation 3x +y =11 in set of natural numbers.

15. k% Fra e % forw, Frer Y weol & g & SR w9 § 3T g i 2

Jx+3y —(k-3)=0 W 12x+ky-k=0.

2

For what. value of k following pair of linear equations has infinitely many

solutions ?

kx+3y-(k-3)=0 and 12x+ky-k=0.

16. GHHIT FTFA 6x+5y=11 T 9x +10y=21 &l a1 o fafr & &t 1| 2

Solve the system of equations 6x+5y=11

multiplication method.

p % g W & foru fgemd GeRoT 3x2 —5x+ p =0 % o1 A B ? 2

and 9x+10y=21 by cross-

For what valuc of p the roots of the quadratic equation 3x? -Sx+ p=0 are

cqual ?

18, TR AU 21, 42, 63, 84, ... T HIF-G1 UE 420 ¥ ? 2
Which term of the A.P. 21, 42, 63, 84, ... is 420 ?
W@*W@W%WMJMS,15@(1,9)%%1 2

Using distance formula show that points (4, 3 ), (5, 1 ) and ('1, 9 ) are collinear.

(HY)110J

1002-J(s0)

. Page 40 of 44



20,

21,

22.

29,

24.

SEEMANCHAL ACADEMY

a 2 . 2
thq X=uasin0 4+ bcosl 3 y=acos( ~-basin0 F{{T{Iﬁ fer x"‘+y2=02-!-b .

f ; 2 2
Il x = asin0 +bcos0 and y=acos0 -bsin0, prove that x?4y?=a”+b”.

FeTfefige siemr o mmor e 2
- 3{eRTe 0.10 | 1020 | 20-30 | 30-40 | 40-50
TR 20 24 40 36 20

Find the mean of the following data :

Class-interval 0-10 10-20 20-30 30-40 40-50

Frequency : 20 24 40 36 20

we o, ot Breer 21 em &, # 9 919 Y 7f@g TG WAl W R FH W 60° FH

o7 T 2 2

In a circle of radius 21 cm, find the | subtends an angle
60° at the centre of circle.

x 3R y ¥ uh TRy wiea Wk T (x, y), B9 (3,6 )@@ (-3,4) @
T 2
Establish a relation between x and y if the point ( x, y ) is equidistant from the
points (3, 6 ) and (-3, 4 ).

g AR ITH FE 0R 5cm U W ¥, T W WY @1 AT &I warg
3cm_%,?ﬁ§ﬁaﬁﬁWTOTaﬁﬁaT§'WﬁTﬁ? 5
The length of tangent AT from a point A which is at a distance 5 cm from the

centre O of a circle is 3 cm. Find the length of radius OT of the circle.
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25.

26.

27.

28.

29.

30.

SEEMANCHAL ACADEMY
aft frdt AP, 3T 83 T 17 W 14 9 UF 20 % A I A.P. FH TSR FTEW 2

If 8h term of an A.P. is 17 and its 14t term is 29, what is the common

difference of the A.P. ?
gfeere T ueliReT & walm | 255 Ud 867 &1 Ho Ho fehme | 2
Using Euclid’s division algorithm, find the HCF of 255 and 867.

T dEe 1 e so%wm@.wﬁw@ﬁaﬁ%ﬁ%ﬁﬁ@ﬁﬁ?ﬂﬁl
2

The sum of two numbers is 50 and one number is %— times of other, then find

the numbers.

AABC ¥ DE | | BC 3R %:%,HﬁAc=4-8cmﬁaﬁAEﬁa’ﬁﬁwaﬁ ?

2
In AABC, DE | | BC and %% =-gi. If AC = 4-8 cm, then what is the length of AE ?
I 4 tan 0 = 5, A 2080350 & g Sty 2
cos0+2sin@
_ Scos®—-3sin0
If 4 tan 0 = 5, then find the value of e B LDSD
o e 5cos? 60° +4 sec? 30° - tan? 45° 2

sin2 30°+ c:os2 30°

5cos? 60° +4sec? 30° - tan? 45°
sin? I?’O"“—thcos2 30°

Evaluate :
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e Iwg WY / Long Answer Type Questions

T WS 31 W 38 i vty we ¥ T @ FE 4 Wt & oo §) RS W &
T 5 ofw frifm 31 4x5=20

Question Nos. 31 to 38 are Long Answer Type questions. Answer any 4 questions. Each

question carries 5 marks. 4x5=20

_\/3}- e TR g 2y =5 T 2x + 4y = 10 F IEHE (UF) T A & FL
5

Draw the graph of pair of linear equations x -2y =5 and 2x + 4y =10and solve

them.

32. T H F TH GO G 3w % W AR T & T AT B F PGS H
A 7, A T A 5
A two-digit number is four times of the sum of its digits and twice the product of

its digits. Find the number.

33. A% Qg9 TH g B at fag S g9 W O Sier St sk gu i wenar €
3o wel-ferg W gufgsisa it 2 5
Prove that in two concentric circles, the chord of the larger circle which is

tangent to the smaller circle is bisected at the point of contact.

: tan0 cotO
34. fag & — + =1+tan0+cotO0. 5
: l-cot@ 1-tan®
tan0 cot®
Prove that =1+tanf+cot0.

+
l1-cot0 1-tano
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35.

36.

37

38.
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@ﬁ‘i“ABcaﬁmaﬁﬁmﬁAB=5cm,Bc=6cmH?JTAC=_7cm | fore
AABC%W@&WﬁmﬁWWﬁAABCﬁWWaﬁaﬁ
S

= TH & 5
7 713"[

Draw a triangle ABC in which AB= 5 cm, BC = 6 cm and AC = 7 cm. Then
o ci S .. ;
similar to AABC, construct a triangle whose sides are ?tm‘ics the corresponding

sides of AABC.

T ¥ U T 0 ¥ TR % Rrar 1 w9 Hior 30° gd AR & e W % e
3T &% RIE T 9T FI 60° ¥ AR ST & Wl GON 5 m ¢, A THAR ST
T | 5
From a point O on the ground the angle of elevation of the top of a tower is 30°
and that of the top of the flagstaff on the top of the tower is 60°. If the length of
the flagstall is 5 m, find the height of the tower.

¥t (0, -1), (2, 1) 3R (0, 3) Tt g = gemell & A gl w e 9
1 G TS 7 8% T | 5
Find the arca of the triangle formed by joining the mid-points of the sides of the
triangle whose vertices are (0,-1), (2, 1)and (0, 3).

faar @ur W% T I G H AN 45 A6 ©) U AN @ IThI I H OAEA
124 97| 37! ddHH 2 AId a1 | =
The sum of the ages of a man and his son is 45 years. Five years ago, the

product of their ages was 124. Find their present ages.
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